NEWMAR
BAY STAR

1
72 )
5.
60 )
534
5.
58§
®
I I ’r/ Q! &
! 3.
. ”56 "MECH A 13.93
P o7’k 1
| L_J_____T_______ [ ]
‘ 1. 1
WILLIAMSBURG FURNITURE INC. WE% 75 ‘|
2096 CHEYENNE ST.
NAPPANEE, IN 46550
REV. DESCRIPTION DATE APPROVED (574) 773-7711
ALL DIMENSIONS ARE IN INCHES DRAWN BY:
A added slofs to the seat front board. lengthtened the seat front board by 1". raised 6/15/2020 scD UNLESS OTHERWISE STATED S.DUESLER
the rear fillier by 5" SCALE: . .
DO NOT SCALE DATE: SHEET:

5/29/2020

REV

A

10F7



BOM

Def
ITEM NO.| PART/FILE NAME %le NOTES:
Y.
: w41660 1156 REAR | |
SUPPORT 4.5-5 RF
2 V56-FF- 3CUSH 1
3 V130 RSA 1
4 V130 RSA 1
5 KD-CLIP SPACER | ,
5INCH
6 WA41749 V56 KB | 1
5 w41751 REAR ]
FILLER

DRW NO.

WILLIAMSBURG FURNITURE INC. W4 ] 75 ]

2096 CHEYENNE ST.

NAPPANEE, IN 46550

(574) 773-7711
ALL DIMENSIONS ARE IN INCHES DRAWN BY: REV

UNLESS OTHERWISE STATED S.DUESLER A

SCALE:

DONOTSCALE  PATE 010016 ST 2 0F 7



CUT LIST

F PART/FILE NAME MATERIAL |QTY.|Thickness|WIDTH|LENGTH|NOTES:
19 .5X2.25X4.75 osB 2 /2" |21/4"| 43/4"

20 4.75X4.75 POPLAR 4 7/8" |43/4"| 43/4"

21 1.5X4.75 POPLAR | 14 7/8" | 11/2"| 43/4"

42 0.875X18 POPLAR 2 7/8" 7/8" 20"

WILLIAMSBURG FURNITURE INC. D1 N©- W4 ‘| 75 ‘|

2096 CHEYENNE ST.

NAPPANEE, IN 46550

(574) 773-7711
ALL DIMENSIONS ARE IN INCHES DRAWNBY: REV

UNLESS OTHERWISE STATED S.DUESLER A

SCALE: :
DO NOT SCALE DATE: SHEET:

6/24/2016 3OF7



o

=|

WILLIAMSBURG FURNITURE INC. Wéﬁ' 75 1
2096 CHEYENNE ST.
NAPPANEE, IN 46550
(574) 773-7711

ALL DIMENSIONS ARE IN INCHES DRAWN BY:
UNLESS OTHERWISE STATED

SCALE: .
DO NOT SCALE DATE:

S.DUESLER
SHEET:

REV

A

40OF7



T-NUT LOCATIONS

——4X 1/4-20 T NUTS

. /)
. *
/4X 1/4-20 T NUTS
_ — X 2 J v
¢ L4 ¢ /
4X 1/4-20 T NUTS
+ o 0/ !
— —
. * oy

4X 1/4-20 T NUTS

WILLIAMSBURG FURNITURE INC. WZQI 75 '|
2096 CHEYENNE ST.
NAPPANEE, IN 46550
(574) 773-7711

ALL DIMENSIONS ARE IN INCHES DRAWN BY: REV
UNLESS OTHERWISE STATED S.DUESLER l x
SCALE: .
DO NOT SCALE DATE: SHEET:

50F7



SECTION C-C

SCALE 1 : 4




REAR FILLER DETAIL

- 1. -
603
o o o— o— o o 3”
20"
5 5
[ |
ITEM NO.| PART/FILE NAME |MATERIAL|QTY.|Thickness|WIDTH|LENGTH|  NOTES:
w41751 REAR .
1 FILLER TOP OB | 1 1/2
w41751 REAR .
2 FILLER CENTER OB | 1 1/2
3 0.875X18 POPLAR | 2 | 7/8" | 778" | 20
3X3X1X.1875
4 K STEEL | 2

DRW NQ.
e e (W4T 751

NAPPANEE, IN 46550
(574) 773-7711

ALL DIMENSIONS ARE IN INCHES DRAWN BY: REV
UNLESS OTHERWISE STATED S.DUESLER A
SCALE: .
DO NOT SCALE DATE: SHEET:

7OF7



	Sheet1
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15

	Sheet2
	Drawing View16

	Sheet3
	Drawing View17

	Sheet4
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21

	Sheet5(2)(2)(2)
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View29

	Sheet5(2)(2)
	Drawing View27
	Section View C-C

	Sheet5(2)
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33


